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Answer each of the following questions and put "X[ on the

correct choice in answer sheet below.
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Teqhnioues and Measu.rement L4d safety rules.

1. Which of the following are used for precise measurement of liquid
volume?

a) beaker and burret

@ Ueat<er and graduated cylindepz'
E beaker and pipet /

2. A student obtained.the following set of data: '

Volume of a liquid: 10.00 mL
Mass of empfy beaker :42.60 g -1 G 1 ,

Mass of beakir with the rfia I sZrc g J * r'+T 5! or' L r 1\^"i 01 ^^

b) pipet and burret
d) Erlenmeyer flask and pipet

Calculate the density of the liquid (h
.;fr".

1o.

o%\9"
a) 0.9500 b) 0.95 c) 0.9' r_-\-...--)

d) o.eso d) 0.95000
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K A*rch of the following statements is incorrect?V
o.r) Fcx:ld. drinks and gum arinot alowea in the labs'atarili tffne;-

b) All injures should be reported to your laboratory instructor.

@fm:se excess chemical by returning it.into thl original reagent

d) Safety goggles must be wom at all times when working with
chemicals or near others doing so.

e) Whenever your hands come into contact with chemicals in
,,.'laborutory, wash them quickly with soap and water.

Forryula of n Evdrste

4. Given the following set of data: ;
Mass of empty crucible = 19.72 g _^. 1
Mass of crucible with the hydrate (KFe(SO a)2.1ll2O) tqlgA )

Mass of the crucible with anhydrous salt (KFe(SO4)r):20.58 g.
Molarmasses: KFe(SOq)2 :287glmol; HzO : 18.0 g/mol.
Calculate the value of "x" in (KFe(SOiz. xHzO).
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5. A student determined value of 'x' inthe foimula of alum

KAI(SO+)2. xH2O gpafer than should be. A possible reason for that
couldbe: '1 4'
a) Incomplete dehydration of alum. a*-

ffi)Bo-" of tfr. dwryas lost drning heating.
\%| rfrb'mass ,..ffid for the'crucibie with inhydrous salt was higher ".

than actual value.

@Anr*"ts a and b.
e) Answers a and c. 4

L9\
q_bFormula of an Oxide

,6. A sample of metal, Ird, was burned in air to produce a metal oxide
Give,n the following set of data:
Mass of empty crucible : 20.18 g -l -- *'
Mass of crucible wlth metal z1.f, g J

Mass of crucible with metal oxide : 20.81 g
Molar rnass of metal =24.0lmol and of oxygen:16.0 g/mol)
Determine the value x in the'fotmulu( MP,. ). :

Report x to two significant figures. , i .r
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a) 1.0

a)4

\oat*x' "= q-'Ts
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b) 1.4 c) 1.3 d) 1.2
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7. Astudent heated ?15 g of sodium sulfate hydrate,lleqgn .x HzO in a
crucible to get l.sffiof anhydrous salt. What is tlire valiE of-fl
(Formula weigffi NazSO+ : L42).
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8. In "the empirical forrrula of an oxide" experimen! after burning magnesium
in air and allowing the crucible to goof 10 drops of water were added to:

@"or,r"o
b) Convert @esium oxide into magnesium nitride.

a) 36.5

fl,ttu
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c) 0.31 g d) 0.2e ga) 0.38 g b) 03a g

Calculate the molar concentration ofNaOH

a) 0.20

Given the following set of data:
Initial reading of;burret (NaOH; =
Pinal reading of burret (NaOIl:

____---,t=+

h

12.
dissofued in water and heated at 80-9q%-r 20 mtrrrr:|[feETmlate the
-qgrl fl," p*gqlqe,0\&!A m@to@).

e) 0.26 g

4/ potassium hydrogen phthalate (KIIP).
.Giventhe following set of data:

fYt A[ass of (KIIp) : O.3Z s d

b)0.30 @ d) o.n e) o.BC
Ar.

. JTY}
A sample of\O-OggLof vinegar was titrated
using in as an indicator.

a) 0.240
,'-

c) 0.2400
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d) 0.2 e) all wrong

Detemination of Acetic Acid in Vineger

13. A solution of NaOH of unknown con,centration was gtqqdard!14{ using
i-c

KU'rNa "\l '
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15.

v

If concentration of acetic acid, CH3COOH, in avinegar solution is

0.40 Ml Calculate the mass percent of acetic acid in this solution'

Gff: Densrty of solution is 1.05 gt,,L and molar mass of acetic acid

is 60.0 sJmol.*.---- na
d(;=-

a) 1.7 b) 1.r c) 2.7 d) r.4

Arz tn, L,^l
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The Ir[eEtralization Capacitv of Agtacl4 Tablels. 
{ \v- ; +-nLGap. r

16. A.0.16 e sample of an antacid w.as dissolvedin 25.00 mL sf 0'15 M

iiffirion. the excess aiid was back titrated with 0*$M NaOH

solution. {f yrs
Given the data:
Initial reading of burret (NaOH) : 12'6A rnL -1 re a a
Final reading of burret (NaOH) = 20'60 mL J - - 4"
calculate the number of moles of HCI neutralized by one gram antacid'

b) 0.016 cft.otz d) 0.010 - o) o.o14

17. Given:
The antacid capacity of a substance is 0.0200 mol HCl / g antacid'

The stomach acid is 0.10,0 UHCI.
Calculate the volume otffiu"h acid that can be neutralizedby 0.80 g

$-t
.t a -tf\

antacid tablet. >-
7 '11

a) 100. mL b)

zty e-. 
t

120. mL c)
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18. Calculate the volume of 0.160 M HCl nbeded to react 3.36 gNaHCO3 .

(Atomio weights: Na: 23.0;H = 1..0; C : 12.0; O =16'0)-

a) 200. mL b) 12s mL c) \2s0. mL d) 400 mL e ) 450. mL

Bleach Analvsis t '. L

19- Given the following set of data; kt(r' '-+ + l'r#t-s3 --"'>

Volume o!gr0l0 VifrCrzOr: JJ.Q mL 
. - .1.t*1.1o- ?

Mass of IGj 1.0 g fl oe >z" r

Volume of HCI solution : 5.0 mI '

Volume of NazSzO3 needed to titrate the librated iodine: 30.0 mL.
Calculate the miler concentretion ofNa2srq sohtion
The balanced equations is:

Crr#- +6szoa2- +14tf

--
,{,6 

o.ldir*." Fb; 
o.rz

{z t-t .=

cA+\(+t+<s

/

,W

) 2Cr3* + 3Sroo2- + 71ho

c) 0.075 d) 0.060
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' Iioxidizes }[a2SzOr to NazSaO6.^

NazSzO: solffid by oxygen orbacterial action.- 
b) NazSzO: solutiffTannofbe oxidized by oxygen or bactenal actlor

,u, ,(gl$odiuq thiosulfate, Na2S2O3, oxidizes I:- to I--
Soiliuni thiosulfate canieadily be prepared from solid Na2S2O3 as

20. Which of the following statements is correct concerning bleach

analysis?

ei Potassium dichromate ,Y*CtzOt cannot be used as a primary standard

solutidn. t


